FNETFERGDFRBENE

D ENETFERPEZREERETARKIKBREK

AN NP~ - 4
3 RRIKkF X :
oKk &'TF N = = W B FR29%7A278 (K). 288 (%)
/ a iy a e 5 P TERERHBEKKS
¥ H % 1 iz £ 2 iz S 3 iz % 4 i % 5 iz % 6 iz £ 7 iz £ 8 iz
fio| EAt &%irﬁﬁ B R &%zﬁﬁﬁ B R &%iﬁﬁﬁ B R &ziﬁﬁﬁ B R &%i—ﬁﬁlﬁ B R E%i—FﬁE B M &%iﬁﬁﬁ B M &%iﬁﬁﬁ B M
= Y 3 1 -+ @3, 3 3 Ay
o |8 BE 3 ;‘;‘; D43 XS FF 2 ﬂgf LRI ESSENE T;ﬁ n62|ET Wik 2 ,;i 14| htE BEE 2 ftf; B3| EA t2 2 :'J'f; 36| wE M 1 Tﬁ’;'l’ff BIG|IF B 3 g"\ﬁ 244
m 61 = = it 7\ p=kic]
100 B £ i3 l‘f*; f9.85|4F fE&F 2 gz'fff [D0.24| KT+ {1 T:f [Do64|'5# t2 2 :'}':fz [D1.05|#AZIH 1 ;ﬁﬁ D136\ #F & 2 f’ﬁ; D1.97|FF #Hk 2 I;Fqi [D2.11|AEE #EE 3 zi [D2.19
m A = £ =)
\}E \}E oo .
d |mmser 1 ER meme o ER Doslmx mm 2 B pols ee 2 DT muooem sm o TR Dueekene o TR Dotk s 1R poslngSE o T Do
200m| oEe i il # VAN ey e i
i = e s NS . = =
|12 Bl £ 3 ;é 4:32.22| /M1l £E (3 nfi; 43223\ N2 KRE 1 fl;: 4:36.18|%0 E¥H i3 :2;: 43954\ B8 X (3 *:’:: o 4:39.65| FEERE 2 2;:::; 4:44.40|RR FED (3 ;\/‘: 4:46.16| AREBH ;;;¥ 4:48.97
400m| ERE AT T
= \ 15 R =] P N=}
Wi EE 0t 925248 BE 3oin. 03156\ WE KR 1 jf*’“ 03497|H0 BH 3 TE 03060l @D 3l 04602|hE BRI 3 en agmEn s BT gseso|mkt =& 3 En?gi 10:00.76
800m)| 1EE e s 1TH MEERE WA e N
[1500m
e IT):o , FE - S S A 2E N = FE FE P ENfE
:Z:';100m B EFEF 3 i [N12.69| 28k fE3L 3 pras [N3.39|BHIR & 3 p [N3.88|=E %% i3 s [N455/% MHE 2 peis 54580 B 2 T 590/ E i3 g 717|148 2 i3 fie= [7.20
+ \ S
gzoo ZE %% 3 f: 7B6.86|BIR F4E i3 f’;: TB7.11|FEHE fERL i3 Zf ZB7.90(% WME {2 ;: rB8.37|80 HF 2 ;g U329 E B 3 ftﬁ ZHe.21|NE ¥E |3 TE ZHeo1[/MlL E i3 ii 748.02
mi & z< E: £
ot 3 - o= 4
5] B PR 2 T mesolsk wA 2 S mez|wm Rk 1T ool g DTE maremAEsY 2 12 osalwr w8 2 Eﬁ“’f moos|teik B 2 25T mogr w2 j}i 7,05
4 128m - e . ' —— —— = —
7 200 M ER (3 h”_:f; 857t THE (2 ﬁ;;‘;ff 718.80[ /NIl =% i3 ;;I;f ZP1.60|#F KRiE 2 ;ﬂﬁﬁ 7P339| KR WA |2 ;ft";‘ff 7P4.96|¥8M FK 1 2;:::; 76.67|/MERKE | 2 f}f_} 7P8.65| €M FXR 1 ;2 728.75
mi /\ ") AEF— H R i
e Pr Pr 5 = \: =1
= |lmxwm 2 %*fﬁ oo sk 1 TIE oo es kw2 TR D|Bm E o T s #W 2 fﬁt me43|mk @i 2 m”fm mosolut= @& 2 fgfj moss|ma #7 3-E. poss
+~ [100m| A Vi AKX i I 7
) = 5 5 =1 = =1 s
=3 wk w2 7P3.22|8 2 HB L s 2B e g0| it 2B s st 3oL ppeas|iEa BF 2 R ppo 34| 3PP ppo|mm Ex 2 0 gm0
ZOOmﬂ_ﬁt ] e X B e & EW e iz B% o AREMIHE P ERREF i M F75 PR FE & i
\ = . = [ N
& 200 BT DAE | 1 ;ﬁ;i Zp4.18[JLUBIATEE | 3 Z‘:; Zp5.16[ithEr KF |2 ﬁ;’:‘ P12\ MIARTIH |1 %ﬁ?ﬁ rP8.49|fEHA E2E i1 ’Z_ﬁf;‘ ZBO.17[EH F& 3 ;ﬁ’ 7B0.40| KB M i3 :2: ZB1.23 (3R ER 2 Z‘:; 7B3.21
A 200 = = " \ e :
4 KR BAF 2 E'Dgz 5:11.47 [JLIBMTHEE : 3 B 51384 mm 2 3 BB sise KB BB 3% ol a0y 3 TR 520 FH %A 2 L YR Nk EE 3 BEE sa0a|om EE 1 BR . 53286
400m TEH= N i3 Bit2E TEE FEEX— EEHm AH
A& FF 2 mis INAREE 3 s BT MM 2 F& HE & 20 F BN BE 3 TR HR W] 2: 4 Nk BB 3 HE & 3 1 mE
Flaoom BB e 2 X& BT 1 X mACCH 1 XH i Fry o3 XE Wit B 2 XHD A% gl 1] XH WA pE 3 XH 3% Alg 3 X
R ATE AT | 1 iE#E £ (2 ED1.90;EKTERLD | 2 D483 EE Hx 3 EDI.04| KR HH 2 m315|#te B 2 EN3.41|FRZE ERTH (2 N6.26| 4 KiE (2 1748
Hf £ i3 B REE 2 B XM 3 JLiBm e 3 M EE (3 HIR BE 2 BH R Ml Mt 2
BE B 1 mme Rk LR 3 BR B 2 M T 3 mE Tt = 1 wR EREIRHRE 3 Fipg #BA Bk 1 Bt
M|s00 Eﬁ gy 2 XH g3 H 3R MBE 2 X BE ER 2 XH WE ®E 3 X pE 2 3 # R mE 2 XH
R EIL R 2 EPp2.60|;EKERLD 2 EB024| K% L |1 EB7.42)/NERER 3 EBO.86| LI T | 1 EN0.25|4 RiF 2 o4 =R WUE 2 £10.82
EKTH Bl £ 3 BTEFET 2 JLiBm e 3 MEE BB (3 mll Ht 2 X% —% 2
fs X4 odi) X% BR X% od) X% od) X% odr X £ oam) X £ oas) X £ od)
“ == fod B \ ? ) ) A= = frd ked ;’I:Q:\ k4 krd E pd
25 GillbEe 3 138 YR 104 FEXE 92 [NEF3: 65 I &R 45 a3z ER 34 BEHXER 28 1) g 23




